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CATHEDRAL MATHS CHALLENGE

Friday 3 April 2020

EYFS (Nursery and Reception)

The Easter bunny has 10 Easter eggs in his basket. On the way to the Easter Egg Hunt, 5
Easter eggs fall out of the basket. He looks everywhere but can only find 2 of the lost eggs.
How many Easter eggs does the Easter Bunny have in his basket now?

KS1 (Year 1& 2)

Count up the totals for each tally then answer these questions:
e How many more children chose chocolate egg than a cereal

e nest?

e How many children chose chocolate egg or hot cross bun

e altogether?
e What was the most

Lower KS2 (Year 3 & 4)

and least popular choice?

Easter Treat Tally
Chocolate egg | HH I
Cereal Nest H I
Hot Cross Bun M |

Simnel Cake

Other

At 3 local supermarkets the following deals were on offer for Easter Eggs:

If I were to buy 12 Easter Eggs, which supermarket would be cheapest?

Upper KS2 (Year 5 & 6)

At an Easter Egg Hunt there are 25 chocolate eggs hidden around the park. The park
consists of 4 areas shown in the table below: Bushes, Play Area, Swings and Pond.

Complete the table:

Area Hidden: Number of eggs: Percentage of eggs:
Bushes 14
Play Area 20%
Swings 4
Pond Area

Remember you can work the challenge out any way you would like to: draw pictures, use materials like buttons as counters, count in your
head... Just make sure you show this on your solution paper!



Working out space:

Now explain how you solved the problem!

Remember you can work the challenge out any way you would like to: draw pictures, use materials like buttons as counters, count in your
head... Just make sure you show this on your solution paper!



